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	2018 April New Cisco 400-151 Exam Dumps with PDF and VCE Free Updated Today! Following are some new 400-151 Real

Exam Questions:1.|2018 Latest Cisco 400-151 Exam Dumps (PDF & VCE) 613Q

Download:https://www.braindump2go.com/400-151.html2.|2018 Latest Cisco 400-151 Exam Questions & Answers

Download:https://drive.google.com/drive/folders/0B75b5xYLjSSNOUtSMndmVjV3czA?usp=sharingQUESTION 158Which two

port profiles are used in VSM? (Choose two.)A.    VEMB.    VMkernelsC.    EthernetD.    vEthernetE.    vNICAnswer: CD

Explanation:

http://www.cisco.com/c/en/us/products/collateral/switches/nexus-1000v-switch-vmware-vsphere/guide_c07-704280.html
QUESTION 159Refer to the exhibit. The administrator has been provided with this topology, but has not been provided with the IP

address of storage switch and has been asked zoning. Which two CLI commands can be used to determine the management

addresses of the storage switches? (Choose two) A.    show npv statusB.    show fens databaseC.    show fcdomain statusD.    show

fcdomain domain-listE.    show fcdomain statisticsF.    show cfs internal ethernet-peerG.    show cfs peersH.    show npv internal

infoAnswer: GHExplanation:

http://www.cisco.com/en/US/docs/storage/san_switches/mds9000/sw/rel_2_x/san-os/configuration/guide/cfs.html
http://www.cisco.com/en/US/docs/storage/san_switches/mds9000/sw/rel_1_x/1_0_2/san-os/configuration/guide/MgngStorDev
c.htmlQUESTION 160What does the previously active supervisor do when "system switchover" is issued?A.    State is transferred

and then becomes ha -standby.B.    A core dump file is written, state is transferred, and the system resets.C.    State is transferred; the

supervisor reloads and becomes ha -standby.D.    State is transferred; data plane operations are briefly suspended and then become

ha -standby.Answer: CQUESTION 161When a host Cisco Network Assistant is attached to two different Cisco Nexus 5000 Series

Switches is a requirement of the host NIC interfaces when attempting to use FCoE from the host?A.    LACP is the only method to

enable the host-side NIC teaming for FCoE.B.    The host/NICs must be capable of supporting link aggregation.C.    LACP mode

,,vPC is the correct Cisco Network Assistant parameter configuration.D.    The host-side NIC team name must match what is

configured in the vPC peers.E.    The NIC drivers must be configured for the ,,Cisco vPC option = onAnswer: BQUESTION 162

Where is FIP negotiated?A.    between E Nodes and VF portsB.    between E Nodes and F NodesC.    between VF portsD.    between

VN portsE.    between VN ports and VF ports and FCFsAnswer: EQUESTION 163Drag and Drop QuestionDrag and drop two

configurations that should fail without data loss from the left column into the 2 Devices Lost column on the right. Answer: 

QUESTION 164The Cisco Nexus 1000v Series switches can configure traditional SPAN sessions. Which three statements about the

local SPAN source ports are true? (Choose three)A.    It can be port type Ethernet, virtual Ethernet, or port-channel.B.    It can be

configured to monitor the direction of the traffic.C.    It must be in the same VLAN.D.    It cannot be on a different host VEM as the

destination port.E.    It cannot be a port profile.F.    It must be in the same VSAN.Answer: ABDQUESTION 165Which two

statements about OTV are true?(Choose two)A.    The authoritative edge device is the active forwarder for multicast and unknown

unicast for all VLANs.B.    The join interface must be a Layer 2 interface.C.    no special license is required for OTV.D.    OTV

requires a separate VDC if SVIs for the extended VLANs are to be configured on the same switch.E.    Only one join interface can

be specified per overlay.F.    OTV runs over a distance victor routing protocol.Answer: DEQUESTION 166Which three options are

types of iSCSI node names? (Choose three)A.    extended unique identifierB.    iSCSI unique identifierC.    extended qualified name

D.    network address authorityE.    iSCSI qualified nameF.    network qualified nameAnswer: ADEQUESTION 167Which Cisco

Nexus 1000v Switch CLI command is used to verify the connection between the Cisco Nexus 1000v Series Switch and VMware?A. 

  show moduleB.    show svs domainC.    show svd domainD.    show svs connectionsE.    show svd consoleAnswer: DQUESTION

168Which three statements about the Cisco Fibre Channel Domain feature are true? (Choose three)A.    It is responsible for domain

ID distribution.B.    It is responsible for fabric reconfiguration.C.    The domains are configured on a switch-wide basis.D.    It

functions as described in the FC-EE standards.E.    It acts as relay agent for the FC ID allocations that are distributed by the Fibre

Channel Time Server(ff.ff.fb)F.    It is responsible for principal switch selection.Answer: ABF!!!RECOMMEND!!!1.|2018 Latest

Cisco 400-151 Exam Dumps (PDF & VCE) 613Q Download:https://www.braindump2go.com/400-151.html2.|2018 Latest Cisco

400-151 Study Guide Video: YouTube Video: YouTube.com/watch?v=DkfigTC-CLg 
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